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WALK-IN-TEST IV 
PAPER I - UNIT- III: GENERAL APTITUDE & MENTAL ABILITY 

 

Time: 1 hr                                  Total marks: 75 

SECTION A 
3 x 10 = 30 

Answer any three questions out of five questions.  
Answer not exceeding 150 words each  
 

1. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
a. Convert Octal Number into Binary: (6247)8 

vl;lbkhd vz;iz <ubkhd vz;zhf khw;wTk;: (6247)8 
 

b. Explain the difference between inclusive and exclusive series. 
Nru;j;Jf; fzf;fpLk; Kiwf;Fk;> jtpu;j;Jf; fzf;fpLk; Kiwf;Fk; cs;s 
tpj;jpahrj;ij tpsf;Ff. 

 
2. The number of hours spent by a school student on various activities on a 

working day is given below.  Construct a pie chart. 
Activity Sleep School Play Home work Other 

No of hours 8 6 2 3 5 

 
i. Find the percentage of sleeping hours.  
ii. By what angle is home work more than play?  
iii. By what angle are other activities less than sleep? 
xU gs;sp khztd; xU Ntiy ehspy; ntt;NtW nray;fSf;fhfr; 
nrytplg;gl;l Neuq;fs; fPNo nfhLf;fg;gl;;Ls;sd.  mt;tptuq;fSf;F tl;l 
tpsf;fg;glk; tiuf. 
 

nray;fs; J}f;fk; gs;sp tpisahl;L tPl;Lg; ghlk; kw;wit 
fhy msT 8 6 2 3 5 

 
i. J}q;Fk; fhy msTf;fhd rjtPjj;ijf; fhz;f? 
ii. tpisahLtijf; fhl;bYk; tPl;Lg;ghlk; nra;tjw;F vt;tsT mjpff; Nfhzk;  

msT nrytplg;gLfpwJ? 
iii. kw;w nray;fSf;Fr; nrytplg;gLk; NeukhdJ> J}f;fj;ij tpl vt;tsT 

Nfhzk; msT FiwT? 
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3. Explain the construction of histogram. 
guty; nrt;tf tiuglk; mikj;jiy tpsf;Ff. 
 

4. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
a. If a person reads 20 pages of a book in 2 hours, how many pages will he read 

in 8 hours at the same speed? 
xU egu; 2 kzp Neuj;jpy; 20 gf;fq;fisg;  gbf;fpwhu; vdpy; mNj Ntfj;jpy; 
8 kzp Neuj;jpy; mtuhy; vj;jid gf;fq;fs; gbf;f KbAk;? 
 

b. I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured 24 cubes 
in it. How many different ratios can be formed, when you compare each 
colour to anyone of the other colours? 
vd;dplKs;s xU ngl;bapy; 3 gr;ir> 9 ePyk;> 4 kQ;rs;> 8 MuQ;R vd 24 
tz;zf; fdr; rJuq;fs; cs;sd vdpy; xU tz;zj;ij kw;w 
tz;zq;fNshL xg;gpl;L vj;jid tpfpjq;fs; fhzyhk;. 

 
5. The following are the marks scored by the students in the Summative 

Assessment exam calculate the median. 
 

Class Intervals 0-10 10-20 20-30 30-40 40-50 50-60 

No.of students 2 7 15 10 11 5 

 
xU tFg;gpy; njhFj;jwp kjpg;gPl;by; khztu;fs; vLj;j kjpg;ngz;fSf;F 
,ilepiy msT fhz;f. 

  
gpupT 

,ilntsp 0-10 10-20 20-30 30-40 40-50 50-60 

khztu;fspd; 
vz;zpf;if 2 7 15 10 11 5 

 

SECTION –  B 
3 x 15 = 45 

Answer any three questions out of five questions. Answer not exceeding 
250 words each 
 

6. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 

a. Find the mean and variance of the first n natural numbers 
Kjy; n ,ay; vz;fspd; ruhrup kw;Wk; tpyf;f tu;f;fr; ruhrupfisf; fhz;f. 
 

b. A milk can contains 10 litres of milk.  3 litres of milk is taken out of it and 3 
litres of water is poured into it.  Again 3 litres of mixture is taken out of the 
milk can and 3 litres of water is poured into it.  Find the percentage of milk 
and water in the milk can. 
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xU ghj;jpuj;jpy; 10 ypl;lu; msT ghy; cs;sJ.  mjpypUe;J xUtu; 3 ypl;lu; 
ghiy vLj;Jtpl;L> 3 ypl;lu; jz;zPiu Cw;Wfpwhu;.  kw;nwhUtu; 
mf;fyitapypUe;J 3 ypl;lu; vLj;Jtpl;L> 3 ypl;lu; jz;zPu; Cw;Wfpwhu;.  
,g;NghJ mg;ghj;jpuj;jpy; vj;jid tpOf;fhL> ghy; kw;Wk; jz;zPu; cs;sJ? 

  
7. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
a. Five years ago, a man was seven times as old as his son, Five year hence, the 

man will be four times as old as his son.  Find their present age. 
5 tUlq;fSf;F Kd;G> xUtUila tajhdJ mtUila kfdpd; 
taijg;Nghy; 7 klq;fhFk;.  5 tUlq;fs; fopj;J mtUila tajhdJ 
kfdpd; taijg;Nghy; 4 klq;fhf ,Uf;Fk; vdpy;> mtu;fSila jw;Nghija 
taJ vd;d? 
 

b. Two numbers are in the ratio 5 : 6.  If 8 is subtracted from each of the 
numbers, the ratio becomes 4 : 5. Find the numbers. 
,U vz;fs; 5 : 6 vd;w tpfpjj;jpy; cs;sd.  mit xt;nthd;wpypUe;Jk; 
KiwNa 8-If; fopj;jhy; mtw;wpd; tpfpjk; 4 : 5 vd khWk; vdpy;> me;j 
vz;fisf; fhz;f. 

 
8. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. The average mark of 25 students was found to be 78.4.  Later on, it was 
found that score of 96 was misread as 69.  Find the correct mean of the 
marks. 
25 khztu;fspd; ruhrup kjpg;ngz; 78.4.  ,q;F 96 vd;w kjpg;ghdJ 69 vdj; 
jtWjyhf vLf;fg;gl;lJ fz;lwpag;gl;lJ vdpy;> kjpg;ngz;fSf;fhd rupahd 
ruhrupiaf; fhz;f. 

  

b. The mean and variance of seven observations are 8 and 16 respectively.  If 
five of these are 2, 4, 10, 12 and 14, then find the remaining two observations. 
VO juTg; Gs;spfspd; ruhrup kw;Wk; tpyf;f tu;f;fr;  ruhrup KiwNa 8> 16 
MFk;.  mjpy; Ie;J juTg; Gs;spfs; 2> 4> 10> 12 kw;Wk; 14 vdpy; kPjk; 
cs;s ,U juTg; Gs;spfisf; fz;lwpf. 

 

9. The temperature of two cities A and B in a winter season are given below 
 

Temperature of city A (in degree Celsius) 18 20 22 24 26 

Temperature of city B (in degree Celsius) 11 14 15 17 18 
 

Find which city is more consistent in temperature changes? 
,uz;L efuq;fs; A kw;Wk; B-apd; Fspu; fhyj;jpy; epyTk; ntg;gepiy msTfs; 
fPNo nfhLf;fg;gl;Ls;sd. 
 

efuk; A-d; ntg;gepiy (bfpup nry;rpa];) 18 20 22 24 26 

efuk; B-d; ntg;gepiy (bfpup nry;rpa];) 11 14 15 17 18 
 
ve;j efukhdJ ntg;gepiy khWghLfspy; mjpfkhd epiyj;jjd;ik nfhz;lJ? 
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10. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
a. Discuss the various generations along with the key characteristics of the 

computer of each generation. 
fzpg;nghwpapd; jiyKiwfisAk;> mtw;wpd; Kf;fpa $WfisAk; tpsf;Ff. 

   

b. Salaries of Ravi and Sumit are in the ratio 2 : 3. If the salary of each is 
increased by Rs. 4000 the new ratio becomes 40 : 57 what is Sumit's present 
salary?  
utp kw;Wk; Rkpj;-,d; tUkhdj;jpw;fhd tpfpjk; 2 : 3 ,UtUila 
tUkhdKk; & 4000 cah;j;jg;gl;l gpd; mth;fSila tpfpjk; 40 : 57 vdpy; 
Rkpj;jpd; jw;Nghija tUkhdk; vd;d?  
 

 


